IECSRGBU6 triangle lightnessT*

T* YocmL*w - nc=100,
T*IEcsraBus=50 (YY) Y2 4(Y,=18, Y,/ 100<Y<=Y,0)
T*\(3,6)=26,T* (18)=50,T*(90)=98

T*90_97 7724, 14=1/2,4=0.41
&=50,00 50,00 D,;=-0,00
T*3 ¥ 25,51.T%,250,00 {=18

T*,=50,0Q %:47,94

application
range

Yn=3.6  Yy=90

IECSRGBuU6

tristimulus value difference
Yoc=L*w - nc=100,
T*IEcsroBus=50 (YY) Y2 4(Y,=18, Y, /100<Y<=Y,0)

log(dY) = (1/2,4) log[2,4Y,,/50)] + [1-(1/2,4)] log¥’)

Iog(AY)
AY

-
* =50, dY,=4,80 dY,/Y,=0,2666 _ ¢
o’
log(dY)=4,8Q m,=0,58 e

.
-

.

1

1

1
1Y=1/2,4= 0,{1

I

dYo=12,27,y=2
dY;g=4,8Q S,=5v,0Q D,=-0,00 application
dYz6=1,87, Y,=18, dY=4,80 ange

Y 18

!YW 7 log

Yn=3.6

log (AY/Y) IECSRGBU6
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
T* IEcsroBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log{/Y,,)
= (1/2,4) log[2,4Y,/50)] - (1/2,4) log¥)

~
~

10g(dY/Y)==0,57 m=-, . .o .

*,=50, dY,=4,80 dY,/Y,=0, 2660 |

application
~ <ange

(dY/Yp=0,1363y=2,4, 1=1/2, 4= 0,41
(dY/Y)g=0,2666 $=50,0Q D=-0,00
(dY/Y},6=0,5202 =18, dY=4,80
'v,=18
1 Yw=90

Yn=3.6

IECSRGBuU6

tristimulus value contrast
Yo=L*w - 6 :ne=100,
T*IEcsraBus=50 (YY) Y2 4(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= - log[2,4{/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y,/50)] + (1/2,4) logy{)

log (Y/AY)
C,=(Y/AY)

* =50, dY,=4,80 Y,/dY,=3
10g(Y/dY)=0,57, m,=0.42

-
-

1
(Y/dY»o=7,33,y=2,4, 1{=1/2,4=Q,41
(Y/dY)g=3,74 $=50,00 D,=—0,§0  application
(Y/dY}6=1,92 Y,=18, dY=4,80 1 range
1Y,=18
Yyw=90

Yn=3.6

T IECSRGBUG relative triangle lightnessT*/T*,,
T*T* YocmL*w - nc=100,
u

T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100<Y<=Y,o)
T¢\(3,6)=26,T* ,(18)=50,T* (90)=98

T* c/T* =1,95 y—2 4, 14=1/2,4=0,+1 :
OQ 0 OO D= 0 )

application
range

Y,=18
Yy=90

THT* J=1, m=-0,20
. L*,=49.T%,=50

Yn=3.6

IECSRGBuU6 relative

tristimulus value difference
YocmL*w  nc=100,

T* EcsraBus=50 (Y/Y) M2 4(Y,=18, Y, /100<Y<=Y, o)
log(dY/dY,) = [1-(1/2,4)] loglf/Y,)

log(AY/AY,)
AYIAY,

QYoo dy=2.85.y=24, 14=1/24=0.41
dY;¢dY,=1,00 $=50, )
dY; gd¥,=0,39 Y,=18, mg 24,80

* =50, dY,=4,8Q dY,/Y,=0,2666 _ -
log[(dY)(dY),J=0, m,=0,58

1 application
- 1 range

1y,=18
Y=90

Yn=3.6
log [(AY/Y) I (AYIY)] IECSRGBUG relative
_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100Y<=Y, o)
1og[(dY/M(AYY),] = - (1/2,4) log¥/Y,,)

(@YMhg(dYI=05L =24, 1=1/2.4=0.41
(dY/Y)g/(dY/Y)=1.00 s.: 0,09 D;=-0,00
(dY/YyddvrY = 95 Y,=18, dY=4, 80 i caton

T
log[(dY/YY(dY/Y)J=0, m=-0,41 1 ~Ns
*,=50, dY,=4,80 dY,/Y,=0,2666

1y =18
Y=90

Yn=3.6

log [(Y/AY) I (YIAY),] IECSRGBU6 relative
tistimulus value contrast

CrlCru=(YIB(YIAY)y Y 21y =100,

nc~
T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100<Y<=Y,o)
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

(Y/dYpo/(Y/dY)=1,95,y=2,4, 1}=1/2,4=0,41
(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(YIdY} d/(Y/dY)=0,51 Y,=18, dY=4,80

log[(Y/dYY(Y/dY)J=0, m=0,41 _
T, =50, AY,=4,80 Vv ~7s e

& application
range
v,=18

Yy=90

YN=3.6




